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IRDEFNZNDEZERSD LK.
a) log,32 =

1
log, —
c) log, 4
e) logs5 =
1
logs — =
g) logs 3

IRDID x BERHEK.
a) log,x =3

c) logzx =2

WHDERECELD, log, M =71, log, N =s THDERF M =a”", N =a° DI DZETHZS

b) 10g25 5 ==
d) log, 16 =
f) log,2 =

h) logg +/2 =

—_1
b) logy x = >

d) log,;x =3

BV, ECT, M =a", N=a'&HBE, BHEAZFNRLT, ROSLOWHDEEZLHE L.

a) log,(M x N)=1log, M +log, N

¢) log, M" =nlog, M

201656838
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b) loga<ﬁ) = log, M —log, N

B B 1B puA

(A

p=log,2, q=log,3ETDEE, RDBE% p, q TKRE.

a) log,8 =

c) log, 12 =

RDE 2 DI ESTE L L.

3 3
a) logy > —log, 3 =

J3

1
b) > log; 5 —logs 5 =
) log,(3 4 +/5) +log,(3—+/5) =

d) 3logs 15 —logs 135 =

(6] RDSLDINEMBBEICE L.
1 3 _
a) ? loglo 125 + loglo g — loglo 03 =

A B C
b) log, n + log, I + log, 1 =

b) log, 18 =

d) log, 1.5 =

THDEEICKD, a9l = b HRDIID. TOWND@MDD ¢ ZERET DNBEMDZEICKD, log, b
% log.a Clog, b TKRE. [BONICINEERDERATNEFEIND. ]

log, 3 =m DEE, log, 6, log;27%Z m TKRE.
a) log, 6 =

b) log;2 =

[R(CHE<]
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a) log, b -logya =

b) log, b -logy c -log,a =

B8 y = log, x (CDOVWTRDRICHTIFFED x DieZ N\ THRE. 1l2L, 2°° = 1414 T D,

0.5

1.5

2.5

AIRZFMALT, BHEH y =log,x DITST7% TTDRD T E ([CHIT.

B #MB BA (kuwataltamacc.chuo-u.ac. jp)

4Dy =3%, y =3, y=logzx, y=—log;x DT> I%EI7.

232 (HTHDBED . 1212U, log o2 = 0.3010 ETD.

WISH, HBDBDHSR%E 1 BBEBTBTEIC,

ZORED % BESENS. COHSREFHL

EERICEDZEEBTDE, HEHBLED % LTFICEHONDD. 127120 logy3 = 0.4771 £TD.
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